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Exponents. Form A

1.if3* = 3%, thenx = Lt
o eX&?m’\fV\

"3 (Base)
B) 2

. expont Pl
(B
= g as €“>

( [ the bases are ?"\‘*“\i i
©)4 exponents are equal
e~ i
C(D5 > 50 | x=5 }
(E)6 ‘
2.if5**1 = 25 thenx = 5‘?,
o 5 Ao
(A) -1 peonite 25
BT oz
(C)4 ¢ =9 7
(D) -5 Avi=2 ) x=1|
(E) 6 o
oo aoe _ .
3.if2* —16 = 0, then x L=2.2.22 = 12
(A)1
(B) 2 2 =1k —
>< T \ =4 |
= Z | X=1 |
(D)5 4 —
(E)6
3
4.if 8% = 16, then x = g= £~
; o " | .-4«)’/’, ﬂmn
(A)5 (Z> = 2 (i
3 &)
7= gy 1
=1 773



5.if3* = g then x =

(A)
(B)
(C)
(D)

6.if7* = 1,thenx =
(A)
(B)
(C)
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(E) 6
X Mmoo M
8.Whatis 5% + 5% + 5% 4 5% 4 5% — 55 iy =
’Xw‘—; 5 5,: 5
= 5
(B) 55x
(C) 25*
(D) 525x
5x+1 : ]
» of=(3)= 31
9. if 3292=3* what is x? ;
(A) 2 2q=3"
o i
5 o =
(D) 5 33 so x=b
(E) 6
10. if 42™*3 = 8"+5 thenn =
(A) 6 L{ZT\“’B e mck\:e_ the bases C(\\M&\
(B) 7 s IN45 (
(C) 8 2
W“*” )

2 =2 e i

3 -2 54

11 Reduce ZY Z to0its sim lest form (
Pl ok il lest ’ﬁz(m @ Eveny variable oppears 6?32&
Symp (15 e
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(C) =2

yz3
3

X

D)
x5z%

(E)
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12. (4x3)(3xy?)(2xy?) is equivalent to:

(A) 9x3y* .32 = 2Y 5'\\ = 24 X:s”jq
(B) 9x5y4 XXX = % J’?
C) 24x3y 4=

24x .

13. For nonzero real numbers a,b, and ¢, the expression
a’p3c*

=257 IS equivalent to: on 4l 3 5
ae® | “Ez:..—lef” - = C;li
(A) o G 7 5 D
B a3c*
(B) 5h4
a3bc*
(C) S5ab4c
)
(D) %5
(E) 5abc
14. Which of the following is equivalent to (3x%)3?
.3 3
L{, L{B m
(A) 3x7 (3><):5>< (ﬁ)‘ o
3 jZ.
= ;5 e - ’
= 2 1A
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15.1fx, y, z are positive integers such that x? = g and y? =

b, then ab="? C L
(A) xy” Q=X = (Xj>
(B) xy**
(C) (xy)*
(D) (xy)*
(E) (xy)**?
16. 4n’. 3n° is equivalent to:
(A) 7n2 (-/*\ 5 = !2/ : m MmN
(B) 7n1? S P= A -a= A
(C) 7n3>
( (D) 12n'? )

(E) 12n3>
17.if49% = 7, and 2%*? = 8, then b =?

8 q_ﬂr (L—!—b -
(A)> ?‘q o Z’m = 8

L : a

d T) =1 =

B) 2 2.2L 5 2
T =1 a+b=3 .
(D)3 o= Lyb=
O\: Z ol :E,
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N

(E)

18. if 22%4% = 88% which of the following equations must

be true? 2x ¥9 8¢
2 =38 " | |
ALy =k = e ) make the Base 2
(B)x+y=Z b&gu 28
(C)2x +4y =8 Z2 =
Zx+8Y) 29z
(D) x + 4y = 122) z ~ =2 \
E)2x+y =2z exxgy=2tE  TF
X 4Gy =182
19.if8% = 16,then3x + 1 = _
> — 2|+ \+]
(A).Z g=15 5X*“!‘“%('§>+
| X ¢ )
() =2 = 4H=5
%X ¢
(D) 32
i 5X.:L]
(B)3 g= 1
" >
20.if3**2 = =, thenx =
27
x|
(A) -1 -5 %
(B)5 o1
(C)3 > 3’
OEY, X472 = =2
(E) 6 X==95
21.1flog,(8) = x,then x =7
0g,0=x <> d-
t___,/————J 6

base
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109, =% < J=g

(A) 8

(B) 2 J
(C)0 X >
(D) 4 L =2
()3 X=5
22.1flog,(x) = —3,then x =? -

P log x=-"> <7 4 =X
(B); 3 V

©} 7
D)5 T o]

64 iwm—x /

23. What is the value of the positive real number x such that

log, (%)z—z,thenxf? s
(A)5 log, (5)= %
(B) 50 ) -
; L e =

OFs X =25~ 572

wei -2 o :
D) — o
P 0 X'=5 = [x=5]
(E) < R
24.1t log, (5) = x, then x =?

~>

()-8 Sl k-2



(B) 2

©)-

(D) 4

(E) -2

Answers
1. D 11.A 21.E
2. B 12.D 22.E
3. C 13.A 23.A
4. C 14.E 24.C
5. E 15.C
6. D 16.D
. B .6
8. A 18.D
9. E 19.B
10.D 20.D
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